mathrm d'N
mathrm d p. mathrm d lambda

Ratio to CMS

mathrm d N / mathrm d p

40

T
w
o

N
o

T

=
o

o

0.5

13000 GeV pp

m CMS
: —A— Pythia 6.428 370
| A Pythia 6.428 373
—  --0G-- Pythia 6.428 374
- Pythia 6.428 375
— Pythia 6.428 381
| --¥- Pythia 6.428 382

=
Multiplicity )\_OO (charged only) (CMS jet substructure)

Rivet 3.1.10, = 1.8M events

mcplots.cern.ch [arXiv:1306.3436]

- [ [ | [ | [ | :N'“ﬂ — —

:llll II|IIII|=IIII|IIII|I=:

A A UL R $ 000909000 9 9=

- =2

- 11

— — 0.5
0 5 10 15 20

multiplicity (charged-only)



	Contents
	Page 1


